1. AAAFa,b,c o H2FME7120 L W, a, b, c O] FHIT T
500 o 7Hg 772 =7

D 360 @)480 ® 120 @ 500 ® 600

Tl HAFujo] vigo| B2 M AFul4=Ql 120 o] HjS
120, 240 , 360 , 480, 600 , --- Z°l A 500 ol 7} 7172 =
480 oJtt.




_ b
A %= a, b, ¢ ol 5t a > b, §>o, S0 g F g
AL
D a+c<0 @ axc<0
® a-b2<0 @) (a-b)(c-b)>0
® ad+b>0

rlo

aStee B3 20, b e RE7E, a > b o|ER
a>0,b<0,c>0
@a-b>0,c—b>0°B2 (a-b)(c-b)>0




o] Z7folct, ojuff o] &5

= Al
i 1

xXa+yxa+xxb+yxb
axXx+bXx+axy+bxy

(x—|—y)><(a—|—b)
=(x+y)xa+(x+y)xb

[

j=]

o

3.

5
o
NN 5
A =0
o ™
H oW
~ ~ ﬁ
T ol i~
B R
™ i
Y
e & el
w3
oy
i
NN =1
oG R
o fn B! AR
R W=
BB go TH
x E T )
BT T K1
= =0 =h

ww_zu Ho

A5 E o]
HEHiH
w3 E




(@)a—d

1
=3, b=3,c=--,d=—-
a C 6
2
@gd—?

11
@;=3

1

®6c:6x<—§>:—3

a-d 2| 3kl 71 At




& x, yAole] BAE Ao yYetile o, y 7} x ofl A
= BT A2H? (9 27H)

o o

rr do
-

@ ®HO Zo)7F xem , EO17F yem 1 BEAHAF ] Wol=
50 cm? |t}

@ S0km ©| 725 QYT HeloR x A7 EF TS e
]
= =y

@@' H o] A7} xcm
@)1 7001 300 ¥5t= A= x 7

o,
o
>
>,
N
N
ofl
o
it
&

@® xy =50 : HHH]E|

@ xy =80 : HtH]g]

®y=3x: Agud

@ y =300x : AH]d|

®y=>5x+2: AHH X, T E o},




the JeEjml Auje] BA y — _gqu ol o] W, g+ bO]

® -3 @ -4 3)5 @ 6

y=—3x (-6,b), (@, -1) €] 5 o] Ap=2
x=-6,y=b5 HUSIH

1
b= —g X(—G)

x=ay=-1< st

La=3
La+b=2+3=5




R RECELELL) W e
T O me] A 3AHEH 919 wH A9 x
AL - 29 ), 0 9] ZHED
X
®-16 @ -8 ® 0 r=$ N\
A

@ 8 (@)16

B

7h 29 1, y = 4 AEE o] fe] y = golct.
y= ;7} (-2, —8)S Aynz




8. A a 9 59 45 N(a) 2 VEFE ©f N(600) X N(a) = 96 <1
AL a FAA 7V 22 45 FoHE?

@ 4 636 ® 8 @ 9 ® 12

€8 ~
600 =23 x 3 x 5% ©]B2 N(600) =4x2X3 =24

24 X N(a) = 96 2. N(a) =4

of0] Fe7E 4 Q) 7 A2 A e

6 =2x3 °Jt}.




200 7 22 x x o] HRFE57}20 D W, x O] ALY

@ @ 4 ® 3 @ 2 ® 1

200 = 23 x 52 0]11 20 = 22 x 5 O| 22

F=15




10. of® 5ol & vshd g4t 5|7 -] & waka 8471 €
o)% WEshe BE H4o] e
@® -3 @ -2 ® 0 @ 2 ®)3

5 7 5 7
D+§>O,D+(—§) <0°]EED>—§,D<§ o},
web] -2 <[J< Lol

~25<[ <359 &3l B54E -2, -1,0, 1,2, 3 o[tk
E A5 F2 (-2) +(-1) +0+1+2+3 =3 ot




11. a>0,b<0, c<0 L 0, o} F 2L ALY

D a+b-c>0 @a—b—c>0
@ a-b+c>0 @ a+b+c<0

® a-(2b-¢)>0

a>0,b<0,c<0°BE2a>0, —b>0, —c>0©°]|c}.
“a-b-c=a+(-b)+(-c)>0




12.

% (=2a * b) & 7rs] T uff, A
© -8 @-10 ®-12 @ -1

~&B

1
4(2a+9b—4)+§(10a—|—3b)

=8a+36b—16+5a+;b

A5 -16




13.

6x—6y=3(x-y)-12 4 o, x -y ©] = F5IH?

®-1 @-2 0-3 @4 0©-




14.

oh23t Zo] ofHl & x 7h ZF o2 Eofvt
Folzl A4te ey vpA et e g uf

o] grol 20 7F = lek. ol x o] = 75

7

@% @ 4 @13_3
14 16
©3 ©OF

B

3x+2+6-4=20
3x =16
16

=g




15.

T_ﬂ-q-' y7]‘60$}’§

% ©

E22 1A17bef| 360°, 12 6°4 =21t}
wheba] TA AL y = 6x

y=60°2 d, x=10=a

y=480°L ™, x=80=0b

s.a=10,b =80

nb-a=170




